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1

SECTIONA

Answer ALL questions. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box $< and then mark your new answer with a cross [X.

P 7 0 4 7 5 A 0 2 1 6

Part-time work
Read these opinions about part-time work.
Dawa: Al pabotato B opuce c 6paTom, Korga WKONbHbIE KaHUKYIbI.
Pabota TpygHas!
Cepren: Mos paboTta — B 6ubnMoTeKe. TamM A YNTaD MHOIO KHUT. DTO
NHTepecHo!
Mwuwa: Mo cy66oTam A paboTato B MarasunHe. 3TO MHOTAA CKYUHO.
AHHa: Al — BoNoOHTEp B BGaccelHe nocne WKosbl. 1 He Monyyato AeHbrn, =
HO 3TO XOPOLLO. -
|¥
Who says what about their work? Enter either Dasha, Sergei, Misha or Anna.
You can use each person more than once.
Example: ... ... Misha .. .. works in a shop.
(€)oo gets to read a lot.
(o) IS works during the school holidays.
() RSSO doesn't get paid for their work.
() can find their job boring.
(£ TR works after school.
(F ) e works with a family member.
(Total for Question 1 = 6 marks)
2
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( )
School life

= | 2 Read the extract from a blog below.
o)
(o' —
<
4.
I p—
k=
= .
i 1 — bopuc. Mos wkona B ropofe. Kaxabin feHb A e3Xy TyAa Ha MeTpo. Al He
E nobnio dpopmy. A Howy CUHUI rancTyk 1 6enyto pybaluKy. Mon yuntens gymatot,
= YTO A OUEHb TaNaHTAMBbLINA. Mo N6UMbIV NpeaMET — UCMAHCKNIA A3bIK. Y MeHA
B MHOTO ipy3eWn, N Mbl YaCTO UrPaeM B LLKOSIbHOM OpKecTpe BMecTe. | |
Z I
() °
Q I‘

ﬁ

Complete the gap in each sentence using a word from the box below. There are more

s words than gaps.

sas s N

g : art blue bus

/¥ countryside friends green

g metro orchestra Spanish

g teachers team town

§ 2 - Y,

§ Example: Boris goes to a school in the ... FOWR i .

2

5 (@) He travels to SChOOI BY ... . (1)
(b) He has towear @ ... tie. (1)
(€) HIS o think he is very talented. (1)
(d) His favourite subject is ... . (1)
(e) Boris and his friends often play in the school ... . (1)

(Total for Question 2 = 5 marks)

DO NOTWRITE IN.-THIS:AREA:

\. J
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The environment

3 (a) Read the email about Andrei’s view of the environment.

I —

AHppeli He yacTo gymaeT 06 okpy»katoLen cpege. OH e3g1T Ha paboTy Ha MallnHe

Kaxablln feHb. OTo 6bIcTpee, uem Ha aBTobyce! ELLE, ero MawwmHa cTapas, 1 No3ToMy |
nnoxas ana nnaHetobl. Ero gpy3ba rosopAr: «[loyemy Tbl He XOAWLb NELWKOM?», HO 5
AHZpelt — NeHUBbIN, Y OH AyMaeT, YTo ero paboTa ganeko. «

ﬁ

Answer the following questions in English. You do not need to write in full sentences.

() How often does Andrei travel to work by car?

(1)
(ii) Why is his car particularly bad for the environment?
(1)
(iii) Give one reason why Andrei doesn’'t walk to work.
(1)
(b) The email continues.
Y AHgpes ecTb nnaH. OH Xxo4eT KynuTb CNOPTUBHbIN Benocune B Oyayuiem. 31o
6ynet nyywe! Ho ectb npobnema. Takme Benocmnebl JOPOro CTOAT, U Yy HEFO HeT I
LEHer. B

(i) What does Andrei plan to do?

(Total for Question 3 = 5 marks)
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Con by Ivan S Turgenev

4 Read the extract below.

The author talks about his life and family.

Vs

~

\

Al >KMBY C MOel Mamoli B HEO6ONbLIOM ropofie Ha mope. Mame TpuauaTb NATb NET, a
MHe ceMHaLaTb; MaMa bblfia o4eHb MoJIofas, KOrga OHa BCTpeTuna otua. Mama
HeBbICOKas XeHLLMHA. Y Heé CBeT/ble BOMOCHI, U FOBOPAT, UTO, KOrfaa oHa 6bina
monogas, oHa bbina Kpacueas. Ho ceiiyac KaXkeTcs, UTo eli Bceraa rpyctHo goma. A
N06I0 MaMy, U OHa JIIOUT MeHs... Ho y Hac HeBecénas Xun3Hb. Mama xoguT Bceraa B
uépHoi ofiexae. Mbl XNBEM JOBOIbHO XOPOLLO, XOTA Y HAaC HET Jpy3eil.

|

Put a cross X in the correct box.

Example: The author lives with his...

O 0 X | 0O

O N W | >

grandmother.

mother.

aunt.

uncle.

() The author lives...

0
0
|
|

A
B
C
D

in the forest.
in a big town.
by the sea.

in the mountains.

(ii) The author is...

L] | A 16yearsold.

|
0
0

B
C
D

17 years old.
18 years old.

19 years old.

P 7 0 4 7 5 A 0 6 1 6
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(iii) The author describes his mother as being..
LI A tall
L1 | B short.
] | C fat
] | D thin.
(iv) The author says that he loves his...
L] A town.
[J | B house.
] | € mother.
1 | D father.
(v) The author and his family have no...
L] | A friends.
1 | B food.
L1 | € money.
L1 | D freetime.
(Total for Question 4 = 5 marks)
J
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0 s
A holiday in Moscow / 3
5 Read the following account of a visit to Moscow posted on a blog. Uf‘?-\
.~:°/\'-\
o
8 |2
Mb! 66111 Ha KaHMKynax B MockBe 31MolA. bbino Tenno, n He 6bi1o cHera. MNoroga 3*’:"(\'\
He 6blna Kak 00blYHO. Mbl 6b1IM yANBAEHDI. IS
\:f\:g*\-\
focTMHWLA, rae Mbl XXunu, 6blia COBPEMEHHAA U NPAKTUYHAA, MOTOMY YTO OHa G
Haxogunacb PAJOM CO CTaHLMEN MeTpO. % X
Mana xoTen NoceTuTb ranepeto, HO OHa bbina 3akpbiTa. Mbl MHOTO rynAnM No | ;’f
ropogay, Ho Mbl 60nbLue BCero ntobunu, Korga Mbl XOAUAM No MarasvHam, Tak Kak I
MO>KHO 6bINO KynuTb Nogapku Ha HoBbIn rog. =
|
ﬁ/
Answer the following questions in English.
(@) Why was the weather during the holiday unusual? Give one detail.
(1)
(b) What was the hotel like where they stayed? Give one detail.
(1)
(c) Which activity did they enjoy most of all?
(1)
(Total for Question 5 = 3 marks)
\ J &3
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4 )
Taxénas xu3Ho AHHbl by 1.V, Kurlova
6 Read the extract below.
The writer describes Anna’s busy lifestyle.
—
AHHa xoTena 6blTb, Kak M3BECTHblE aMePUKaHCKMEe aKTPUChI. YTPOM OHa noberana B
napke, NOTOM MoLusia B cayHy. [ocne sToro AHHa nowna B ntobumoe Kade. MNocne
obefia oHa fONTO XoAMMa NO MarasmHaMm, YTobbl HanTV HOBYIO oaexay. OHa
npegnoynTana MogHyto ogexay! Yepes nATb YacoB OHa BbliLa M3 Mara3uHa u
roexasa Ha Takcu Jomoli. Kak oHa yctana!
Ha cnepytowmin feHb el Hy»HO 6blno KynuTb HOBOE MilaTbe, MOTOMY YTO Y Heé Obina
BCTpeuYa C noapyramm B pectopaHe. L
Y AHHbI TA>KENas »KN3Hb! Ig
e 4
Answer the following questions in English. You do not need to write in full sentences.
(@) Who were Anna’s role models?
(1)
(b) What did Anna do right after lunch? Give one detail.
(1)
(c¢) How did Anna feel when she returned home?
(1)
(d) Why did Anna want to buy a new dress?
(1)
(Total for Question 6 = 4 marks)
TOTAL FOR SECTION A = 28 MARKS
. Y,
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SECTIONB

Pa6oTta BOnoHTEpom

7 Tol uiTaelwb 3Ty peKnamy B HTEpPHeTe.
—

Bbl xoTUTE paboTaTb BONOHTEPOM?

B aBrycte moxkHo 6yaeT momoraTb Hallel opraHu3auun. Y Hac narepb ans
ManieHbKIMX AeTEN, U HaM HYXXHbl TPyZoN06MBbIe BONOHTEPLI. Bbl 6yaete nrpatb B
¢$yTO6ON 1 TEHHUC C AETbMU, METb NECHN U YnTaTb Nctopun. Pabota gnutca ognH
MecsL, B KpacIBOM paiioHe, rae Bbl byaeTe »K1Tb B NanaTke BO BpeMsA npoekTa. Mbl
npeanaraem 6ecnnaTHble 3aBTPaKK, 06elbl U YKMHbI. Bbl XoTuTe y3HaTb 6onblue?
Haw Be6caiiT oTBETUT Ha BCE BOMPOCHI.

———

«O»I

MNpouunTan TeKcT. lNNocTaBb NponyLeHHble CI0Ba B HY»KHble MecTa. BHumaHwue! He Bce
CJ10Ba HY>KHbl.

rasere rocTUHMLEe AeTaAMm ena
KUBOTHbIM MHTEpHeTe MallNHa nanartke

npakTnka naoxon crioptTom XopoLwmnmn

Mpumep: OpraHn3auma MOMOTAET ... BETAM .

(@) BONOHTEPDLI OYAYT 3AHUMATDCA .. .

(D) PAVMOH — oo .

(C) BONOHTEPDI OYAYT MUTD B ..o .

(d) Y BONOHTEPOB OYAET OECTNMATHAN ... .

(e) MOXHO y3HaTb 60MbLUE MHOOPMALMY B ..o .

(1)

(1)

(1)

(1

(1)

(Total for Question 7 = 5 marks)
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LUkonbHasA noesgKa

8 [lpounTain 3TO SNEeKTPOHHOE NMNCbMO.

—

MpwuserT, Buka!

B NATHMUUY Yy HacC 6blNa WKOobHas noesnka B MCTOpVI'-IeCKI/IVI My3e|7|. Mbl npunexann

OYeHb paHO, B BOCEMb 4aCOB yTpa.

My3el — OrpOMHbIA, 1 Tam H6bIJI0O MHOTO YYEHMKOB M3 Pa3HbIX WKos. Haw rmug 6bin
cTapbIM 1 o6pbIM. OH 3HaN Tak MHOTO MHTEPECHbIX GaKToB 06 ncTopuun.

Mocne BM3MTa HaW yuynTenb CKasaJsl, YTo Mbl bygem ectb OyTepbpogbl B napke,
NMOTOMY YTO norofa uvygecHas. Mol TamM OTAOXHYNN. [TOTOM Mbl BEPHYNUCH B LLIKONY.

MeTa

MocTaBb KpecTnk X B HYXHYI0 KOPOOGKY.

Mpumep: LLKonbHaA noe3aka 6obina. ..

O

A B cy660TY.

B B nATHULY.

C B uyeTBepr.

X
O
|

D B cpepy.

(i) LWkonbHaA rpynna 6bina B My3ee...

O

YTPOM.

O

OHEM.

(|

BEUEPOM.

(|

O|lnNn w| >

HOUbIO.

(ii) MNeTta gyman, uto my3sen...

N

A 3aKpbIT.

HenonynApHbIN.

ManieHbKUN.

0
0
0

O N @

OGOSbLLOMN.

« o |4

N
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(iii) NeTa gyman, yto rug...
L] | A ckyuHbiii.
[0 | B monogon.
L] | C ymHbIiA.
] | D ctporuin.
(iv) Mocne BM3KWTa, LWWKONBHUKM ObININ B NMapKe W...
LI | A wurpann.
[l | B o6epgann.
L] | € yunnuce.
L] ' D yutanu.
(v) Moropa 6bINa...
L1 | A npusatHas.
[0 | B xonopgHas.
[ | € yxacHas.
[0 | D o6naunas.
(Total for Question 8 = 5 marks)
J
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»KunsHb B 60nbIOomM ropope

9 Tbl UnTaelb 3TN MHEHUA O XXN3HW B rOpoae. o
o
[ %Y
=z
5
_ =+
Bukrop: [nA MeHA BaXKHO XNTb B 60MbLLIOM ropofe, MOTOMY UTO Y MEHS HeT 5
MaLLVHbl. MOXXHO OYeHb Ierko 1 yaobHo e3auTb aBTOOYCOM Unu o
Ha MeTpo. 5 :
EneHa: Mntb B ropoge — knaccHo! 3gecb OTMYHbIE TOProBble€ LIEHTPbI U ,;
eCTb xopolune Kade, rae A MOry BCTpeyaTbCa C APY3bAMMN. =
3 s
Auma: Y MeHs eCTb KBapTupa B LieHTpe, rae WyMHO U rpAa3Ho. fl xouy s
CNOKOWMHYIO KM3Hb B lepeBHe.
Onsa: OTnnYHO, YTO Y HaC B ropofe ecTb TeaTp 1 XopoLwmnn KuHoTteaTp. f e S
paHbLUe Xuna B iepeBHE, HO MHe TaM OblJI0 OYEHb CKYYHO. .
¥
l

——————————————————————————————

Kto uto gymaet? Muwwn: Bukrop, Enena, Aluma nnn Ons.

Mpumep: ... Buktop AYMaeT, uTo 6€3 MaLIVHbI BaXHO XNTb B
ropoge.
(@) e He N6UT XUTb B ropoae. (1)
(D) LYMAET, UTO »KM3Hb B ropofie MHTEpPeCHee, YeM B
nepesHe. (1)
(€)oo AYMaEeT, UTO TPaHCMOPT XOPOLUUIA. (1)
(o ) I AYMaeT, UTO MarasvHbl XopoLuue. (1)
(€)oo NHTepecyeTca punbmamu. (1)

(Total for Question 9 = 5 marks)

TOTAL FOR SECTION B = 15 MARKS
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SECTION C
Translation

10 Translate this passage into English.

Al oueHb NGO POK-My3bIKY. fl HACTO XOXY HAa KOHLIEPTbI C ApYy3bamu. Tam Bcerga
MHoro ntofei. TakxKe ecTb Xopoluasa atmocdepa. Hawwa niobumas rpynna nrpana B
ropoge B MPOLUIOM roay.

(Total for Question 10 = 7 marks)

TOTAL FOR SECTION C =7 MARKS
TOTAL FOR PAPER =50 MARKS

.
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